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1struction :  (A) Question No. 1 is an objective type question. It has three

parts—Part (A), Part (B) and Part (C). Part (A) has Multiple

choice type questions, Part (B) has Match the following and

Part (C) has Fill in the blanks. Each part has 5 questions

and each question carries 1 mark.
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(@ue-2n) wE fomrey wraw fafan
(Part-A) Choose and write the correct option :

h (f)k“ 1§ @ $R-w 9w i g 8

(i)

(iif)

(3 wam (F) 3 FH 5
(9) = (%) &

Which of the following is a man-made resource?

(@) Building (b) Water of waterfall
(c¢) Forest (d) Air

FREFA 1 fmfo &) .

(N WHR (3 FweEw
() FE YR () el +ft
Factories are built :

(@) onthestreets = " (5) on barren land
(c) on agricultufal land (d) | aﬁywhere

RA 4 4 el gaifes 5 e

(37) Foa &t |

(&) o @l o

() oae sEg 49

() vt drem §

Paddy is cultivated the most in India :
(@) onlyin Rabi
() only in Kharif

. (€). only in Zayad

(d) - inall seasons

[1x5=5]
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(iv) TET €U T FHET I of

() wEfe
(%) SFR
(%) =g
(%) ¥ & FR
The Russian Parliament was called :
(a) Council
(b) Diet =
(¢) Duma
(d) None .of.;hcs;e |
(v) T 1 S fored Wi €
(@ f T oy
(%) <ol 3 & fog
(¥) w 39m & o
() <re-3wd s & fag
Anand of Gujarat is' world famous for's
(a) Cement Industry

(6) Dairy Industry

(c) Fisheries Industry

(d) Iron-Steel Industry |

8-3C
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(Eve-v ) Sfua wary Sifg :
(&)
() whE -
(i) ey v -
i) IfEm : -
(iv) o T -

(v) WaeH Hi Y -

(Part-B) Match the following :
(A)

() Minerﬂ oil

(if) Nuclear disarmament

(#if) Uranium

(iv) Pisa Act

(v) Voting age

(TEvg-w) faa = = off wifeg .

(Part-C) Fill in the blanks °

(@)
(37) @H
(F) 18 9
(F) T 1983
(3) ] i

(3) Sifasw garm

(a) Mining
(b) 18 years
() 1983

~ (d) Nuclear energy

(e) Biological resources

() m%maﬂrumw-;a“

was the Nationalist and the First President of Indonesia

(i) T — g ¥

Forest is a resource.

S-3C:

[1x5=5]

[1x5=5]
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(iv) 3TERER Hifd & G &6 — <@ I |
Russia became country after the October Revolution.
(v) Wifgad 99 & faued F ag &9 & Tgafd — a1 1 .

After the dissolution of the Soviet Union became the
President of Russia.

fagvr : (F) U HHIG 2 ¥ 6 q Afdergswid W | Waw 9 W
2 3% Efed ¥ (W FI sifvrman wsZ-HT 30 9 ©)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer 1s 30 words)

-2 OR el % owEm - A A A e
In what areas solar energy is used?
w9H-3 aﬂgﬁﬂ#%ﬁ%w-wgwﬁvm%?
What are the bad effects of modern agricuiture?'
U -4 B IRCE e S %" ? |
What is Imperilalism;?'
I¥-5 amﬁ%aﬁéﬁaﬁﬁ;w%?

i

What is the correct process of collecting income tax?

UIH-6 o e N T &2

What does life expectancy show?

(2]
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Instruction : () Quustion Nos. 7 to 10 are very short answer type questions.

W -7

WY-9

W¥-10

e

Kach quostion carries 3 marks. (Maximum word-limit of
answor is 50 words)

Tonell v W Rt w0 9 W g ? ) [3]

What will happen if the sex-ratio is low in a country?

WHIY 9 QT S YAFE TR & aR § fafae (31 @9 | [1+1+1=3]
Write about the terrible dt}mn ge caused by an atomic bomb (any three). -
1 AF A W Wil weieh wend § 2 fafaw, [3)

Are there wage problems in your area? Write. -

ST A SHfrm 1 Il 3 e wnd €2 (3]

How can you use the right to information?

: (R) W HHIE 119 14 waﬁum%ammﬁaﬂaﬁa

ﬁw%lmmmamm&a%i(wﬁaﬁxﬁq
R-H 75 U ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

UyH-11

Each question has internal option. Each question carries
4 marks. (Maximum word-limit of answer is 75 words)

T ITTeRE fofay fof e o 9 faenfla e o1 v @
Write a paragraph on how India can be developed.

[4]

NET/OR

nﬁwﬁaﬁﬁmﬁw&;maﬂtw—wmmﬁm@mﬁm
Ty | -

Whﬂi.ﬁﬁorts should be made to the better education of w

omen? Write
your thoughts,

8-3C
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T¥T-12 ﬁﬁmﬁ%@wﬁﬁqm%mrﬂﬁm:

)

7.032

5,113

3610 3011 3,868
2767 2097

2,020

1,371
ag2 614 721 857

&€ &£ §@@§@§ L F SR e

(i) @ sE w1 W fafau _

(i) Wﬁwwﬁwxﬁnﬁa%mﬁhm%?

(iii) Wﬁﬂﬁlﬁﬁﬁﬁﬁﬂﬁw%ﬂﬁ%?

(iv) ﬁ*@aﬁﬁﬁﬁﬁﬁmﬁfﬂﬂwmaﬂﬁﬁ%? [1+1+1+1=4]

Answer the questlons given below by looklng at the given dlagram

7,032

5113

aso 3811 3.868

(i) Name the given diagram,

(ify Which country uses the most energy?

-(iif) What is the per capita energy consumption in India?

(iv)  Which country consumes the least energy in the given diagram?

2
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eFqr/ OR

femrama & anfva =1 Jme 9wl 6 I

ITd o fermear

972 gg4

1000

850

800

I S S P X £ S
9 RCANIN A SR RE RN O P N

L

() waw fys fermm frg qoe o w1 32

(i) w8 F0 famom fr v @i 22

(iif) mm#aﬁﬁ*@mﬁiﬁtmﬁ@ﬁ%m%?
(iv) 72011 %1 femgara emer frg <we & e @) 2

See this graph of sex-ratio and answer the following questions

Sex-ratio in India

972  gpq

e ——

A A A A A \
I O A L & @ -1_@\ S

—— Sex-ratio
() Which decade has the highest sex-ratio?

(f])  Which decade has the lowest sex-ratio?

(iii) After which decade the sex-ratio is seen increasing continuously?

(iv) In which decade has the sex-ratio of 2011 hecama alee - _.
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Instruction

UgT-15

Wh r * - . s
at 1s the difference between a Democracy and a Fascist Dictatorship?

37erqr/ OR
HIRA S SR ¥ St et arfers faferern i ardt i & 2
Why is there so much variation in the density of population in India?
TSR 3TN Sferregzane & wan ave & 2 [1+1+1+1=4]
What is the difference between Nationalism and Hyper-nationalism?
3re47/OR
9 ferstedt 3R a9 fosredt # st fafau o l
Write the difference between hydro power and thermal power.

vy fovg gg o SHA & T & 1 HR0 9 2 [1+1+1+1=4]

What were the causes of defeat of Germany in the First World War?

!

37eraT/OR
ver fava g o1 SHaHr T T9E 9877
What was the impact of the First World War on the general public?
. (3) U HHS 15 Td 16 SHISA0T W T | ¥&E W ° AR

Fqored | TF W W 5 3% ofeifed ¥ 1 (SW H firwman
g 100 =] 2) https://www.cgboardonline.com

. (E) Question Nos. 15 and 16 are long answer type questions.
’ Each question has internal option. Each question carries
5 marks. (Maximum word-limit of answer is /00 words)

ﬁ:Wﬂﬂmﬂﬁﬂ&'ﬁf%? [1+1'+1+1+1=5]

Why Disarmament is needed?
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arerar/OR

¥,
s siiers & e i i 20 Q% 35 Ferg 1 7 991 TR €

. . t take to prevent
What steps can those involved in the Peace Movemen

unrest?

WvA-16 AR} sty fiwd S anforfegss S w frdo €T @, @ ga ¢ e
SERT T F YF T2 ? [I+]1+1+1+1=5)

If the Reserve Bank of India does not control commercial banks, so

what will be the effect on the currency (mo_nf:y)'and credit? |

31eraT/ OR
H T8 FEd ¢ 2 0 F o o, SR~ o, wwa, wim, et anfe
I Sravasal i gt § 2 gHEEy : '

What is called Loan? Why some cOnditidns,"like — interest rate, time,

guarantor, mortgage, etc., are essential for Ioan?'Explain.

Fdor :(tﬁ)mmnqﬁwﬁéﬁﬂam%rmmﬁmﬁﬁ
ﬁaﬁq%mmweaﬁﬂﬁﬁa%l(mﬁaﬁ:m
VeR-HHH 750 veg )

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.
Each question has internal option. Each question carries

6 marks. (Maximum word-limit of answer is 150 words)
W17 S 971 ) 9hear § e, Ww%mﬁﬁ%?www
umwmwmmmw? (141414141 +1=6)

How Parliament is dependent on the Executive in the process of law

making? Whether this will have a positive or negative effert ae o
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srerar/OR

SureE g AR ¥ st ®) e go, e % w5
QIS

Describing the relationship botween Prime Minister and Council of

Ministers, discuss the works of Prile Minister.

WA-18  HOSEl Hee A il et o ¥ (6 v) ? [1+1+1+1+1+1=6]

Why voters don’t go to vote (any six)?

3rgaT/OR
TaeM iR & @ farg feee it samen S|

Briefly explain the voting process by writing six points.
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